

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref DD	J1	J2	J3	J4	Total Pen.	Total	Routine
			Elements	Artistic Impression				Synchronization			
			J1								
			J2								
			J3								
			J4								
Code	Rank	Draw	Swimmer	Ref DD	J1	J2	J3	J4	Total Pen.	Total	Routine
1.	(2)		AOA								
			MANZANO Isis / ORNELAS Maria Jose								
			ACRO (1.6)	2.100	6.00	5.25	5.25	6.50	19.0400	49.5692	107.7692
			HYBRID (0.5)	5.900	5.25	5.00	6.25	6.50	16.9625		
			HYBRID (0.5)	5.900	0.500	5.75	5.00	6.25	6.25	1.4792	
			HYBRID (0.5)	4.700	0.500	5.50	5.25	6.50	6.00	1.4375	
			HYBRID (0.5)		3.550	5.75	5.25	6.50	6.25	10.6500	
			TOTAL DIFFICULTY	12.550	22.150						
			Choreo and Music (1.2)		6.00	6.25	6.25	6.25	22.5000	64.8000	
			Performance (1.0)		6.25	6.75	6.50	6.50	19.5000		
			Transitions (1.2)		6.25	6.50	6.25	6.50	22.8000		
			STC Small (0.1)		31				3.1000	-6.6000	
			STC Obvious (0.5)		7				3.5000		
			STC Major (3.0)		0				0.0000		
2.	(10)		CARE NL								
			BANDA HERNÁNDEZ Rocío Yareli / MARTÍNEZ ALCORTA Jacy Carolina								
			ACRO (1.6)	0.900	5.75	5.25	5.25	5.00	7.5600	50.5621	91.5121
			HYBRID (0.5)	3.750	5.00	5.25	5.50	4.50	9.5313		
			HYBRID (0.5)	4.250	4.75	4.75	5.75	4.75	10.2708		
			HYBRID (0.5)	5.800	4.50	5.00	5.50	5.00	14.5000		
			HYBRID (0.5)		3.600	4.25	4.75	5.50	5.00	8.7000	
			TOTAL DIFFICULTY	18.300	18.300						
			Choreo and Music (1.2)		5.00	5.00	5.50	5.25	18.6000	52.6500	
			Performance (1.0)		4.75	5.00	5.50	5.50	15.7500		
			Transitions (1.2)		5.00	4.75	5.25	5.25	18.3000		
			STC Small (0.1)		52				5.2000	-11.7000	
			STC Obvious (0.5)		1				0.5000		
			STC Major (3.0)		2				6.0000		

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			VILLASEÑOR RUIZ Keyra / SOSA VILLARREAL Camila										
			ACRO (1.6)		0.900	5.50	5.00	5.25	5.75	7.6800		25.7404	71.3404
			HYBRID (0.5)		2.000	5.25	5.00	5.00	5.25	5.0833			
			HYBRID (0.5)		1.900	5.00	4.75	5.25	5.00	4.7500			
			HYBRID (0.5)		2.550	4.50	4.75	4.50	4.75	5.8438			
			HYBRID (0.5)		1.100	4.00	4.75	4.25	4.50	2.3833			
			TOTAL DIFFICULTY	8.450	8.450								
			Choreo and Music (1.2)			5.00	5.25	5.00	5.25	18.3000		51.6000	
			Performance (1.0)			5.50	5.00	4.75	5.00	15.0000			
			Transitions (1.2)			5.25	5.25	4.75	5.00	18.3000			
			STC Small (0.1)			40				4.0000		-6.0000	
			STC Obvious (0.5)			4				2.0000			
			STC Major (3.0)			0				0.0000			
5.	(5)		CDCH										
			RAMÍREZ Ariadna / RETIZ Ana Paula										
			ACRO (1.6)		1.300	5.50	5.50	5.75	5.75	11.6133		33.0196	71.1196
			HYBRID (0.5)		3.750	4.75	5.00	5.25	5.25	9.5313			
			HYBRID (0.5)		3.850	5.00	5.00	5.50	5.00	9.6250	2.00		
			HYBRID (0.5)	3.200	0.500	4.50	4.75	4.50	5.00	1.1667			
			HYBRID (0.5)	3.400	0.500	4.25	4.50	4.00	4.75	1.0833			
			TOTAL DIFFICULTY	9.900	15.500								
			Choreo and Music (1.2)			4.75	5.25	6.25	5.50	19.5000		53.3000	
			Performance (1.0)			5.00	4.50	6.00	5.25	15.5000			
			Transitions (1.2)			4.25	5.00	6.00	5.25	18.3000			
			STC Small (0.1)			77				7.7000		-13.2000	
			STC Obvious (0.5)			11				5.5000			
			STC Major (3.0)			0				0.0000			
6.	(9)		CIUDAD DE CALI										
			GONZÁLEZ CASTILLO Luisa María / OCAMPO MARULANDA Luciana										
			ACRO (1.6)		1.300	6.00	5.50	6.00	6.50	12.4800		30.5425	68.8425
			HYBRID (0.5)		5.250	5.25	5.00	5.75	5.75	14.4375			
			HYBRID (0.5)	4.650	0.500	4.50	5.00	5.50	4.50	1.1875			
			HYBRID (0.5)	3.950	0.500	4.75	5.00	5.75	5.00	1.2500			
			HYBRID (0.5)	3.500	0.500	4.25	4.75	5.00	4.75	1.1875			
			TOTAL DIFFICULTY	8.050	18.650								
			Choreo and Music (1.2)			5.00	4.75	5.00	5.25	18.0000		50.4000	
			Performance (1.0)			4.75	5.25	5.00	5.00	15.0000			
			Transitions (1.2)			4.25	4.75	5.00	5.50	17.4000			
			STC Small (0.1)			86				8.6000		-12.1000	
			STC Obvious (0.5)			7				3.5000			
			STC Major (3.0)			0				0.0000			
7.	(4)		CIUDAD DE CALI										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			CASTILLO POTES Kenya / PEÑA VIDAL María Del Mar										
			ACRO (1.6)		1.300	5.00	5.25	5.00	4.75	10.4000		35.2542	63.9042
			HYBRID (0.5)	5.550	0.500	5.00	5.25	5.50	5.25	1.3125			
			HYBRID (0.5)		3.750	5.50	5.00	5.75	5.00	9.8438	8.00		
			HYBRID (0.5)		4.750	5.75	5.00	5.50	4.75	12.4688			
			HYBRID (0.5)	3.950	0.500	5.00	5.00	5.00	4.50	1.2292			
			TOTAL DIFFICULTY		10.800	19.300							
			Choreo and Music (1.2)			4.75	5.00	6.00	5.50	18.9000		53.2500	
			Performance (1.0)			4.50	5.25	5.75	5.25	15.7500			
			Transitions (1.2)			4.25	4.75	5.75	5.75	18.6000			
			STC Small (0.1)			51				5.1000		-16.6000	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			3				9.0000			
8.	(6)		CARE NL										
			DURÓN ROJAS Renee / LEMUS ESQUIVEL Avril										
			ACRO (1.6)		0.900	6.00	5.50	6.00	5.50	8.2800		26.3113	59.7113
			HYBRID (0.5)		3.750	4.75	5.00	5.25	4.75	9.2188			
			HYBRID (0.5)	4.200	0.500	4.50	4.75	4.75	5.00	1.1875			
			HYBRID (0.5)	3.500	0.500	4.75	5.00	5.00	5.25	1.2500			
			HYBRID (0.5)		2.550	5.00	5.00	5.25	5.00	6.3750			
			TOTAL DIFFICULTY		8.200	14.900							
			Choreo and Music (1.2)			6.00	5.75	5.75	5.00	20.4000		58.3000	
			Performance (1.0)			6.50	5.75	6.00	4.75	17.5000			
			Transitions (1.2)			6.75	5.50	5.75	5.00	20.4000			
			STC Small (0.1)			44				4.4000		-24.9000	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			6				18.0000			
9.	(13)		SAN NICOLÁS										
			FERNÁNDEZ ÁLVAREZ Grettel Nicole / GARZA DE LA ROSA Ximena										
			ACRO (1.6)		0.500	5.00	5.00	5.50	5.75	4.2000		19.4333	56.8833
			HYBRID (0.5)	2.650	0.500	4.75	5.00	5.25	5.50	1.2708			
			HYBRID (0.5)	3.150	0.500	4.50	4.75	5.00	5.25	1.2083			
			HYBRID (0.5)		3.200	4.75	4.50	4.50	5.00	7.4667			
			HYBRID (0.5)		2.350	4.50	4.50	4.25	5.00	5.2875			
			TOTAL DIFFICULTY		7.050	11.850							
			Choreo and Music (1.2)			4.50	5.25	5.50	5.00	18.3000		50.4500	
			Performance (1.0)			4.75	5.50	5.00	4.75	14.7500			
			Transitions (1.2)			4.25	5.25	5.50	4.50	17.4000			
			STC Small (0.1)			60				6.0000		-13.0000	
			STC Obvious (0.5)			8				4.0000			
			STC Major (3.0)			1				3.0000			
10.	(14)		CLUB SINCROCAPITAL										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			FIERRO Sara / MUÑOZ Lara										
			ACRO (1.6)	1.100		5.25	5.00	4.75	5.00	8.8000		22.7083	56.7583
			HYBRID (0.5)	2.200	0.500	5.00	4.75	4.50	4.75	1.1875			
			HYBRID (0.5)	1.850	0.500	4.25	4.50	3.75	4.25	1.0625			
			HYBRID (0.5)	2.850	4.00	4.25	4.00	4.00	4.00	5.7000			
			HYBRID (0.5)	2.600	4.50	4.75	3.75	4.75	4.75	5.9583			
			TOTAL DIFFICULTY	7.550	10.600								
			Choreo and Music (1.2)			4.75	5.00	5.25	5.00	18.0000		49.3500	
			Performance (1.0)			4.50	4.75	4.75	5.25	14.2500			
			Transitions (1.2)			4.50	4.75	4.75	4.75	17.1000			
			STC Small (0.1)			43				4.3000		-15.3000	
			STC Obvious (0.5)			4				2.0000			
			STC Major (3.0)			3				9.0000			
11.	(11)		COMUDE LEÓN										
			ANICA M. Frida / CONEJO G. Daniela										
			ACRO (1.6)	0.900		5.75	5.25	5.00	5.00	7.4400		16.2192	54.7500
			HYBRID (0.5)	3.250	0.500	5.00	5.00	5.25	4.75	1.2500			
			HYBRID (0.5)	2.150	5.00	4.75	4.75	5.00	5.00	5.1958	2.00		
			HYBRID (0.5)	0.700	0.500	4.75	4.75	4.50	5.00	1.1875			
			HYBRID (0.5)	4.050	0.500	4.00	4.50	5.00	4.75	1.1458			
			TOTAL DIFFICULTY	4.550	11.050								
			Choreo and Music (1.2)			5.25	5.25	6.00	6.00	20.1000		56.7500	
			Performance (1.0)			5.00	4.75	5.75	6.25	16.2500			
			Transitions (1.2)			5.25	5.50	5.75	6.50	20.4000			
			STC Small (0.1)			68				6.8000		-16.2192	
			STC Obvious (0.5)			2				1.0000			
			STC Major (3.0)			5				15.0000			
12.	(7)		COMUDE LEÓN										
			MORALES A. Pía / NAVARRO H. Lluvia										
			HYBRID (0.5)	3.850	0.500	5.00	4.75	5.75	5.75	1.3333		6.0658	53.9000
			HYBRID (0.5)	2.300	0.500	5.25	4.75	6.00	5.50	1.3333			
			ACRO (1.6)	0.900	0.100	6.00	5.50	5.50	6.50	0.9200			
			HYBRID (0.5)	3.100	0.500	4.75	5.00	4.50	5.50	1.2292			
			HYBRID (0.5)	3.900	0.500	4.50	4.75	5.25	5.75	1.2500			
			TOTAL DIFFICULTY	2.100	14.050								
			Choreo and Music (1.2)			5.00	6.00	5.75	4.75	19.2000		53.9000	
			Performance (1.0)			4.75	5.50	5.75	4.75	15.5000			
			Transitions (1.2)			5.00	5.75	6.00	4.50	19.2000			
			STC Small (0.1)			56				5.6000		-6.0658	
			STC Obvious (0.5)			9				4.5000			
			STC Major (3.0)			6				18.0000			
13.	(15)		SINCRO QRO 2000										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
HERNÁNDEZ RIVERA Stephania / NAVA GONZÁLEZ Agnes													
			ACRO (1.6)	0.900	0.100	5.75	5.25	5.50	5.50	0.8800		5.1717	48.1500
			HYBRID (0.5)	2.350	0.500	4.00	4.75	4.50	5.25	1.1458			
			HYBRID (0.5)	2.400	0.500	4.00	4.50	4.25	4.75	1.0833			
			HYBRID (0.5)	1.450	0.500	4.00	4.50	4.00	4.75	1.0625			
			HYBRID (0.5)	1.850	0.500	3.75	4.25	4.00	4.00	1.0000			
			TOTAL DIFFICULTY	2.100	8.950								
			Choreo and Music (1.2)			4.50	4.50	5.75	4.75	16.8000		48.1500	
			Performance (1.0)			4.25	4.50	5.25	5.00	14.2500			
			Transitions (1.2)			4.50	4.75	5.00	4.75	17.1000			
			STC Small (0.1)			54				5.4000		-5.1717	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			8				24.0000			
14.	(1)		AQUATELY										
MANDUJANO GUERRERO Nancy Yamileth / MENDOZA HERNANDEZ Valentina													
			ACRO (1.6)		1.100	4.00	5.00	5.50	5.00	8.6533		25.9367	46.2500
			HYBRID (0.5)		2.700	5.25	4.75	5.25	5.00	6.8625			
			HYBRID (0.5)	2.200	0.500	4.75	4.50	4.75	4.50	1.1458			
			HYBRID (0.5)		3.650	4.25	4.75	4.50	4.50	8.2125			
			HYBRID (0.5)	3.100	0.500	4.25	4.75	4.25	3.50	1.0625			
			TOTAL DIFFICULTY	8.450	12.750								
			Choreo and Music (1.2)			4.75	4.75	4.50	4.50	16.5000		46.2500	
			Performance (1.0)			4.50	4.25	4.75	4.25	13.2500			
			Transitions (1.2)			4.50	4.75	4.75	4.00	16.5000			
			STC Small (0.1)			63				6.3000		-25.9367	
			STC Obvious (0.5)			10				5.0000			
			STC Major (3.0)			10				30.0000			
15.	(8)		DEPORTIVO SALVADOR ALLENDE										
ACUÑA Arlene / DE ITA María José													

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			ACRO (1.6)		0.500	5.50	5.00	5.50	5.50	4.3333	8.00	20.7458	30.7500
			HYBRID (0.5)		2.900	5.25	4.75	5.00	5.50	7.3708			
			HYBRID (0.5)		3.000	4.50	4.75	4.25	4.75	6.8750	10.00		
			HYBRID (0.5)	2.650	0.500	4.25	4.75	4.00	4.50	1.0833			
			HYBRID (0.5)	4.900	0.500	4.25	4.75	4.00	4.50	1.0833			
			TOTAL DIFFICULTY		7.400	13.950							
			Choreo and Music (1.2)			4.75	5.25	5.25	4.50	18.0000		48.7500	
			Performance (1.0)			4.50	5.50	5.00	4.50	14.2500			
			Transitions (1.2)			4.25	5.50	4.75	4.25	16.5000			
			STC Small (0.1)			99				9.9000		-20.7458	
			STC Obvious (0.5)			10				5.0000			
			STC Major (3.0)			3				9.0000			